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ࡦ ßɫȴɠƟɫʉˈ ȴǇ #ȴȴȋƟŒȣ ǇʞȣƁʉǩȴȣɻ Ø

ࡦ Ƞƀ࢙ʞɻƟǇʞȋȣƟɻɻࡩ

Ø(ǅ) = ߽ Ǉȴɫ ƟʻƟɫˈ ǅ ∈ ðxĿD(Ƞƀ) .
ࡦ +ȴȣɻʉɫʞƁʉǩʻƟȣƟɻɻࡩ cǩʻƟȣ ʉǞƟ ʉɫʞʉǞ ʉŒŷȋƟ ȴǇ
ǅ : {߽, Ƞ{߾ → {߽, ࡪ{߾ ȴȣƟ ƁŒȣ ƁȴȝɠʞʉƟ Ø(ǅ) ǩȣ
ʉǩȝƟ (Ƞ)®߿

ࡦ �ŒɫǊƟȣƟɻɻࡩ �ʉ ȋƟŒɻʉ Ƞ/߾ ǇɫŒƁʉǩȴȣ ȴǇ Œȋȋ ǇʞȣƁʉǩȴȣɻ
ǅ : {߽, Ƞ{߾ → {߽, {߾ ɻŒʉǩɻǇˈ Ø
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üǞƟȴɫƟȝ ࢎࠁࠆææࢍ
èʗɛɛȰɵƝ ʂǛŒʂ ɵʗŶƝˀɛȰȠƝȠʂǦŒȈȈˁ ɵʂɥȰȠǈ
ȰȠƝࢗʸŒˁ ǅʗȠƀʂǦȰȠɵ ƝˀǦɵʂࡰ óǛƝȠ ʂǛƝɥƝ ƝˀǦɵʂɵ Œ
ƀȰȠɵʂŒȠʂ ƀ ɵʗƀǛ ʂǛŒʂ ʂǛƝɥƝ Ǧɵ ȠȰ ȠƀࢗʗɵƝǅʗȈ
ȠŒʂʗɥŒȈ ɛɥƝƊǦƀŒʂƝ Øࡰ
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ßŒɫŒȝƟʉƟɫɻ Ț,Ƞ, Ȃࡱ � ȝŒʉɫǩˇ � ∈ FȚ×Ƞ
߿ ࡪ Œȣƌ ʉǞƟ

ƌǩɻʉɫǩŷʞʉǩȴȣ

3Ȃ = �ʴ+ Ɲ ,

ʴ ∈ FȠ߿ ǩɻ Œ ɫŒȣƌȴȝ ʻƟƁʉȴɫࡪ Ɲ ∈ FȚ߿ ǩɻ Œ ɫŒȣƌȴȝ
ʻƟƁʉȴɫ ȴǇ oŒȝȝǩȣǊ ʿƟǩǊǞʉ Ȃࡱ

L
of

isam
seo.TT ISit compute f in poly n

cannot invent in time 2h EERO t



t

m 0cal

o

ai

IF

het nunning time
Ye polyGI

Say k nE
for u wa



�Ж̺Ϙ˺̺͞ �x£࢙ð�ü

+ȴȣǽƟƁʉʞɫƟ
`ȴɫ ƟʻƟɫˈ Ț(Ƞ) = Θ(Ƞ)ࡪ ʉǞƟɫƟ Ɵˇǩɻʉɻ Œ ǇŒȝǩȋˈ ȴǇ
Ț(Ƞ)× Ƞ ȝŒʉɫǩƁƟɻ � = {�Ƞ}ࡪ ɻʞƁǞ ʉǞŒʉ Ǉȴɫ
ƟʻƟɫˈ ǇʞȣƁʉǩȴȣ Ȃ(Ƞ) ʿǞǩƁǞ ɻŒʉǩɻ˨Ɵɻ
Ƞε < Ȃ(Ƞ) < Ƞ߾−ε Ǉȴɫ ɻȴȝƟ ƁȴȣɻʉŒȣʉ ε > ࡪ߽ Œȣˈ
ɠȴȋˈȣȴȝǩŒȋ࢙ʉǩȝƟ ŒȋǊȴɫǩʉǞȝ ƁŒȣ ƌǩɻʉǩȣǊʞǩɻǞ
3Ȃ(�) Œȣƌ 3Ȃ+߾(�) ȴȣȋˈ ʿǩʉǞ ȣƟǊȋǩǊǩŷȋƟ ǩȣࢍ Ƞࢎ
ɠɫȴŷŒŷǩȋǩʉ ̍ࡱ
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üǞƟȴɫƟȝ ࢎࠀ�ȋƟ߽ࢍ
óǛǦɵ *ȰȠǺƝƀʂʗɥƝ ǦȚɛȈǦƝɵ ʂǛŒʂ ǅȰɥ ƝʴƝɥˁ ˧ˀƝƊ
ε, δ > ߽ ȰȠƝ ƀŒȠȠȰʂ ƊǦɵʂǦȠǈʗǦɵǛ ʸǦʂǛ
ȠȰȠࢗȠƝǈȈǦǈǦŶȈƝ ɛɥȰŶŒŶǦȈǦʂˁ ʂǛƝ ǅȰȈȈȰʸǦȠǈ ʂʸȰ
ƀŒɵƝɵࡩ

ĪƝɵࢅ ǦȠɵʂŒȠƀƝࢆ �Ƞˁ � ∈ {߽, Ƞ×Ƞ{߾ ɵʗƀǛ ʂǛŒʂ

RF߿
� (εȠ) < Ƞ߾+δ .

Ȱ ࢅ ǦȠɵʂŒȠƀƝࢆ �Ƞˁ � ∈ {߽, Ƞ×Ƞ{߾ ɵʗƀǛ ʂǛŒʂ

RF߿
� (εȠ) ≥ Ω(Ƞ߿) .
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